
Australian Pump Industries Pty Ltd  |  7 Gladstone Road, Castle Hill NSW 2154  |  P: 02 8865 3500 |  F: 02 9894 4240  |  www.aussiepumps.com.au 

   GMP/July23/1 All prices ex GST 

AUSSIE SPARES DIAGRAM & PARTS LIST 

AUSSIE GMP PUMPS:  

Position 
Number 

Part  
Number Qty Description List price 

01a 8921 1 Pump Body B4KQ-A/ST  $2,438 

01b 8927 1 Valve B4KQ-A/ST  $529 

01c 5253 1 Flange B 3203  $57 

01d 8933 1 Inspection Door  $136 

01e 6026 1 Complete check valve $122 

01f 5393 1 Rubber Gasket B 3207  $19 

01g 8936 2 Gasket Door B4KQ-A/ST  $20 

01h 6184 1 Flex. Washer 41x50x2  $8 

01i 6214 1 Conical Tap 1¼” Gas  $28 

01l 6209 1 Conical Tap ¼” Gas  $7 

01m 6241 9 T.E. Screw M 10x30 UNI5739 $3 

01n 5020 5 T.E. Screw M 10x35 UNI 5931 $3 

01p 9468 2 Grub Screw M10x60 UNI 5923 $12 

01q 8975 2 Complete Pin M10  $58 

01r F914 1 Complete Wear Disc D.129.5 kit $174 

01s 9068 3 Screw T.S.E.I.M5x10 UNI 5933 $2 

B4KQ-A/ST WITH 4KW ELECTRIC MOTOR  
Cat EAR8 EAGF 

REJUVENATION KIT  … SAVE ON BUYING INDIVIDUAL PARTS 

GREJK-B4KQ-ST3P 
(R519) 

Includes check valve, mech seal, counter-
face, filling cap & trash port gaskets (items 
highlighted yellow) 

$273 

6026 

Position 
Number 

Part  
Number Qty Description List price 

02 F749  1 Impeller B4KQ-A/ST  $734 

03 L306 1 Seal holder flange $394  

04 L299 1 Support B 2951/1 MEC100-112 $565 

05 9821 1 Extension shaft MEC100-112  $1,262 

06 6353 1 Counterface 27-50-10  $32 

07 8404 1 Mech. Seal 25-47-14  $285 

08 6030 1 Flex. Gasket B 2587 1MM $13 

09 7726 6 Washer D.8, 4x14x1.6  $6 

10 7674 6 Screw UNI 5931 M8x25  $10 

11 6178 1 Washer B 2901/2 D.12-28-4  

12 F476 1 s/s nut M12 UNI 7474  $10 

13 6243 4 T.E. Screw M 12x25 UNI 5739  

14 6325 1 Key B 6x6x20 UNI 6604 $7 

15 6255 2 Screw UNI 5931 M8 x 25 $7 

16 P071 4 Hex. Head Bolt M14 X 40 UNI 5931  $3 

17 F086 4 Nut UNI 5588 M14 $6 

18 6172 4 Wash UNI 6592 D.10 5x21x2  $22 

19 L809 4 Screw UNI 5739 M10x35  $6 

20   1 Base   

21 S313 1 Electric Mot.4kW $2,584 

  F685 1 Flexolite gasket $8 


